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Candidates must write the Code on the 

title page of the answer-book. 
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 ²}¾R  NOTE 

(I) qHc\p HcHy q²¾crIV Hc de} qH qBg 
\of²¾ \§Wc Yy N\y h}By 11 \¥²y¾ h²¾ & 

(I) Please check that this question 

paper contains 11 printed pages. 

(II) \of²¾ \§Wc Yy E¨\c g§Oy h§X qY§Wy JBy 
H}T ²¥¾. ²¥¾v \orqIApcXr E¨Wc \tgqWHp Yy 
`t§I \¥²y¾ EWy kcvc qd§IV & 

(II) Code number given on the right 

hand side of the question paper 

should be written on the title page of 

the answer-book by the candidate. 

(III) qHc\p HcHy YyI de} qH qBg \of²¾ \§Wc 
qeM 15 \of²¾ h²¾ & 

(III) Please check that this question 

paper contains 15 questions. 

(IV) qHc\p HcHy E¨Wc qdIVp ftcv Hc²¾ W~ 
\qhdp£, E¨Wc \tgqWHp qeM \of²¾ Yp 
n`p£H (grqcAd ²¥¾^c) kcvc qd§I} & 

(IV) Please write down the Serial 

Number of the question in the 

answer-book before attempting it. 

(V) qBg \of²¾ \§Wc ²¥¾v \mª²¾ Yy dBr  
15 q`¥R Yp g`p£ qY§Wp qJAp h± & \of²¾ 
\§Wc geycy 10.15 eOy e¥Ty OpVJy & 
10.15 eOy W~ 10.30 eOy WH \orqIApcXr 
Hyed \of²¾ \§Wc ²¥¾v \mª²¾Jy AWy qBg g`y 
qeM Eh E¨Wc \tgqWHp qeM H}Br E¨Wc 
²¾hs qdIVJy & 

(V) 15 minute time has been allotted to 

read this question paper. The 

question paper  will  be  distributed 

at 10.15 a.m. From 10.15 a.m. to 

10.30 a.m., the students will read the 

question paper only and will not 

write any answer on the  

answer-book during this period. 

 

\¥Op^r  
PUNJABI  

g`p£ gr`p£ : 3 K¥Ry   \vc²¾ A¥H : 80 
Time allowed : 3 hours Maximum Marks : 80  



   

   .6/C 2 

²}¾R : qdIpBr ftZ, gt¥Yc AWy It§dªr-It§dªr Hc²¾ Yp OW²¾ Hc} & 

 ‘\mª²¾-H¡fd’ 

1. hyS¾ qdIy \±cy ²¥¾v \mª Hy, qY§Wy \of²¾p£ Yy E¨Wc qdI} :  2+2+2+2+1=9 

 g¥J`c`c Ap\Vy Ap\ qe§M q²¾cr gt¥Yc AWy `sh-Zt§Z Yp RpHcp Hc²¾ 

epdr egWv hr ²¾hs, gJ~ O} H}`dWp, t̀dpqB`r AWy ge§NWp g¥J`c`c qe§M 

\oJRpBr Op gHYr h± Eg Yr crg H}Br h}c \§Xc Op£ qB`pcWr `gpdp ²¾hs 

Hc gHYp & g¥J`c`c Yr KpmW Op£ ^VWc qe§M HtP er dtqHAp ²¾hs cqh¥Yp, 

g} qBh ftZ gt¥YcWp \oJRpEV Yp gpZ²¾ h± & av²¾p²¾ qe§M \qhdp£-\qhd 

g¥J`c`c Yr ecW~ `¥Ycp£ AWy h}c qB`pcWp£ dBr h}Br `¥²¾r Op£Yr h± & _pcW 

qe§M g¥J`c`c ^htW q`d Op£Yp h±, qBg dBr qB§X~ YrAp£ HBr gt¥Yc qB`pcWp£ 

dBr qBg Yr ecW~ Hc²¾ Yp qcepk qBg W~ \qhdp£ \± Mt§Hp gr & WpO `qhd Wy 

`}Wr-`gOY AWy h}c A²y¾Hp£ `¥Ycp£ qe§M qBg Yy \oa}J ²¾pd O} gvi` AWy 

H}`d \o_pe EW\¥²¾ h}qBAp gr, Eg²y¾ fpqBY `hpcpOp cVOrW qg¥K ²¥¾v \oycVp 

qY§Wr qH `ycy gqWJtcp£ Yp `¥Yc er AqOhp hr gt¥Yc h}Vp MphrYp h± &    

\of²¾ : 

(A) h}c \§Xc Op£ qB`pcWr `gpdy Yy `tHp^dy g¥J`c`c qe§M qHhmy-qHhmy 
JtV h²¾ ? 

(B) g¥J`c`c ²¥¾v ft§Z gt¥YcWp \oJRpEV Yp gpZ²¾ qHE¤ qHhp qJAp h± ? 

(C) g¥J`c`c Yr ecW~ \qhdp£-\qhd qHhmy Yyg qe§M AWy qHhmy H¥` dBr 
h}Br ? 

(D) WpO `qhd, `}Wr `gOY AWy h}c `¥Ycp£ qe§M g¥J`c`c ²¾pd qHh} 
qOhp£ \o_pe EW\¥²¾ h}qBAp ? 

(E) E\c}HW \±cy Yp UtHep£ qgcdyI qYG &  



  

   .6/C 3 P.T.O. 

2. hyS¾ qdIr Hpqe-RtHmr ²¥¾v \mª Hy hyS¾p£ qY§Wy \of²¾p£ Yy E¨Wc qdI} :  23=6 

‘O} ^Yyfp£’M ctdYy ²y¾ c}kr dBr 

Eh OY} Yyg \cWVJy Ap\Vy HYr 

HtNWp£ gyHVJy `p£ Yy qgey Yr AJ²¾ 

^pHr H^cp£ Yy ct§I hyS¾ Op ^qhVJy &’ 

 \of²¾ : 

(A) d}H qeYyf qHE¤ Op£Yy h²¾ ? 

(B) qeYyfp£ W~ ep\g OY} Kc ep\g ApEVJy Wp£ Hr YyIVJy ? 

(C) H^cp£ Yy ct§I hyS¾ ^±S¾ Hy Eh Hr Hc²¾Jy ?  

 ‘qeApHc²¾’¾ 

3. (i) ‘Yt§Z AWy Yhs’ f^Y g`vh dBr ghr g`pgr-f^Y Yr M}V Hc} –  

(A) Yhs-Yt§Z 

(B) Yt§Z-Yhs  

(C) Y}Zr-Yt§Z 

(D) Yt§Z-Yhs 

(ii) ‘d}H-g_p’ g`pgr f^Y Yp ghr f^Y-g v̀h qHhmp h± ? 

(A) d}H AWy g_p 

(B) d}Hp£ Yr g_p 

(C) d}H g_p 

(D) d}Hp£ qeMdr g_p 



   

   .6/C 4 

(iii) hyS¾ qdqIAp£ qe§M~ qec}Zr AcXp£ epdp g`pgr f^Y MtV} – 

(A) Itf-I^cr 

(B) ¾g§M-PvS¾ 

(C) qeAph-fpYr 

(D) ²¡¾Hc-MpHc 

(iv) ‘\tgWHp£ Yr gvMr’ dBr ghr g`pgr f^Y Yr M}V Hc} –  

(A) \tgWH-gvMr 

(B) \tgWHp£-gvMr 

(C) \tgWH-gvMr 

(D) gvMr-\tgWH 14=4 

4. (i) ‘g¥J’ f^Y Yy ^htAcXH f^Y MtV} –  

(A) g§M, gvWc 

(B) fc`, M}R 

(C) fc`, gpX 

(D) \§Xc, c}mr 

(ii) ‘q`§Rp’ f^Y Yy ^htAcXH f^Y MtV} – 

(A) q²¾M}m, ²¾WrOp 

(B) gc, ²¾Hd 

(C) g¥Iy\, g¥K 

(D) gW, g¥K 
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(iii) hyS¾ qdqIAp£ qe§M~ ‘gpc’ f^Y Yy qHhmy ^htAcXH ²¾hs h²¾ ? 

(A) g¥Iy\, i^c d±Vr 

(B) HYc, eHW R\pEVp 

(C) Egy g z̀, g¥Iy\ 

(D) g¥Iy\, fc` 

(iv) ‘qgApVy Hqh¥Yy h²¾ qH ‘Hc `Ovcr Wy Iph Mvcr’ \c `qh¥JpBr qe§M 
Mvcr qHez IpBrBy, Hc _c-_c Hy X§H JBy & `ycy Wy Hc-\±c hr Rt§R 
Op£Yy h²¾ q`h²¾W Hc-Hc Yy &’ qBg epH qe§M ‘Hc’ f^Y \¥O epcr 
ApqBAp h± & YvOr epcApBy ‘Hc’ f^Y W~ Hr _pe h± – 

(A) q`§Rr K§Rp 

(B) ctHpeR 

(C) R±Hg 

(D) HR¡Wr 14=4 

5. (i) \qc`pV-epMH qHqcAp qefyfV qHqcAp Yp Hr Y§gYy h²¾ ?  

(A) ²¾WrOp 

(B) g`p£ 

(C) q`VWr 

(D) q²¾c²¾p 

(ii) ‘HtdYr\ h¡dr h¡dr EWc qchp h± &’ epH qe§M~ qHqcAp-qefyfV MtV} – 

(A) h± 

(B) HtdYr\ 

(C) EWc 

(D) h¡dr 



   

   .6/C 6 

(iii) ‘qHE¤’ f^Y qHqcAp-qefyfV Yr qHhmr qHg` h± ? 

(A) Hpd epMH 

(B) Hpc²¾ epMH 

(C) q²¾c²¾p epMH 

(D) qJVWrepMH 

(iv) ‘YvOr epcr HY~ ApGJy ?’ epH qHqcAp-qefyfV Yr qHhmr qHg` h± ? 

(A) \qc`pV epMH 

(B) ¾g¥qIAp epMH 

(C) Hpd epMH 

(D) Hpc²¾ epMH 14=4 

6. (i) ‘gqh’ AWy ‘\c’ AJyWc dp Hy Y}-Y} f^Y ^VpG & 

(ii) ‘`¥Y’ AWy ‘Yp²¾r’ q\NyWc dp Hy Y}-Y} f^Y ^VpG & 22=4 

7. hyS¾ qdIy `thpeqcAp£ Yp AcX g\fR HcYy h}By epH ^VpG : 14=4 

(i) H§I _¥²¾ ²y¾ Yvhcp ²¾p Hc²¾p 

(ii) Ipc IpVr 

(iii) Mp£Yr Yr Ot§Wr `pc²¾r 

(iv) Op²¾ Yr ^pkr dpEVr 
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 ‘qdIV H¡fd’ 

8. hyS¾ qdIy qeqfAp£ qe§M~ qHgy qB§H  qefy E¨Wy qY§Wy h}By ²¾®HqWAp£ Yy ApZpc’Wy 

200 f^Yp£ Yp dyI qdI} – 10 

‘gqhO \Hy g} `rS¾p h}qB’ 

 ²¾®HWy — • t̀hpecy Wy AIpV gpdp£ Yy q²¾M}m, • `hp²¾ Wy qMc gXpBr HpcO 

d¥`y g`z Yr q`h²¾W, • HtYcW qe§M gqhOWp, • d§Ip£ gpdp£’M ZcWr S¥¾Tr,  

• e²¾g\Wr AWy Ore²¾ Hc}mp£ gpdp£ qe§M, • cpW~-cpW A`rc ^V²¾ Yr Y¡m,  

• ^¥Yc W~ `²§¾tI W§H Yp qeHpg gpdp£ qe§M, • gpc¥f & 

Op£ 

‘\oYvfV Yr g§`qgAp’ 

 ²¾®HWy — • _vq`Hp, • J¥Ydp epWpec²¾, • `hp£²¾Jcp£ Yr A^pYr e§ZVp,  

• ApepOpBr Yy gpZ²¾p£ Yp e§ZVp, • EYa}JrHc²¾, • O¥Jdp£ Yr HRpBr,  

• A±R`r Wkc^y, • E\pA – ²¾ez ct§I dJpEVy, Hvmy Yp ghr q²¾\Rpcp, M¥JrAp£ 

ApYWp£ A\VpEVrAp£, • gpc¥f & 

Op£ 

‘^§qMAp£ Yy `p£-^p\ \oWr ³ck’ 

 ²¾®HWy — • _vq`Hp, • AO}Hy g`z qe§M ^ktcJp£ Yr gqXWr, • \tcpVr \rmªr Wy 

²¾es \rmªr qe§M A¥Wc, • ^§qMAp£ Yp ³ck, • `p£ ^p\ ²¥¾v g`z A²¾®gpc Ap\Vr 

g}M ^YdV Yr d}m, • ^§qMAp£ ²¥¾v er \YpcXH Y¡m Yy ²¾pd-²¾pd g¥gHpcp£ Yp 

qZAp²¾ c§IVp MphrYp h±, • gpc¥f & 



   

   .6/C 8 

9. hyS¾ qdIy ²¾®HqWAp£ Yy ApZpc’Wy H}Br qB§H \§Wc qdI} – 8 

 Ap\Vy q\Wp Or ²¥¾v \§Wc qd§I Hy Y§g} qH Ap\Vr gHvdr \mªpBr iW` 

Hc²¾ W~ ^pAY Wtgs Yr Hc²¾p Mpht¥Yy h} & 

²¾®HWy – • gqWHpc _cy f^Y, • Ap\Vy Ore²¾-EYyf Yp qkHc, • Ore²¾ EYyf 

Yp `h§We AWy Eg Yr \vcWr dBr HpcOfrdWp, • qYd~ Z¥²¾epY, • Ap\Vp 

qgc²¾pep£ & 

Op£ 

 Ap\Vy qBdpHy Yy A±¨g.A±¨M.G. ²¥¾v qBdpHy qe§M qY²¾ eydy er \tqdg Yr 

JfW HcepEV dBr ^y²¾Wr-\§Wc qdI} & 

²¾®HWy – • gqWHpc _cy f^Y, • qBdpHy qeMdrAp£-N}RrAp£-e§TrAp£ epcYpWp£ 

Yp qkHc, • qBdpHpepgrAp£ e§d~ gt§cqIAp dBr Mt§Hy JBy HY` – d}hy Yr 

Jqc§d, M~HrYpc ApqY, • \tqdg JfW Yr er d}m, • Z¥²¾epY, • Ap\Vp 

qgc²¾pep£ & 

10. WthpTp qW¥²¾ `¥qkdp ²¾ep£ `Hp²¾ ^qVAp h± & EgYr YvOr `¥qOd Wtgs eyMVp 

Mpht¥Yy h± & Eg ^p^W 50 f^Yp£ qe§M qB§H qBfqWhpc qWApc Hc} & 7  

Op£ 
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hyS¾p qY§Wr Wgerc ²¥¾v eyI Hy dJ_J 50 – 60 f^Yp£ qe§M qBgYp ecV²¾ Hc} – 

 

(qgcl ²y¾Wchr²¾ qeqYApcXrAp£ dBr) 

WthpTy qBdpHy qe§M `§Nc ^htW e§Z qJAp h± & qBg Yy gpcv \o_pe W~ ^§MV 
dBr Ap\Vy qBdpHpepgrAp£ ²¥¾v OpJcvH HcYy h}By gXp²¾H (d}Hd) Ai^pc 
dBr \±cp qdI} & 

 \pS¾-\tgWHp£’Wy AZpcW \of²¾ – 

11. AqW N}Ry \of²¾ (^htqeHd\r) 14=4 

(i) g§_ W~ \qhdp£ g§\ ²¥¾v qHg²y¾ eyqIAp ? 

(A) cO²¾r 

(B) M~HrYpc 

(C) cphtd 

(D) \vOp 



   

   .6/C 10 

(ii) AcM²¾p M}\mp qHhmy ³d}c Wy cqh¥Yr gr ?  

(A) \qhdr ³d}c 

(B) YvOr ³d}c 

(C) WrOr ³d}c 

(D) R}\ ³d}c 

(iii) qHg A²¾®gpc gvcO Mmª²¾ W~ ^pAY W§H gt§Wy cqhV epdy d}Hp£ ²¥¾v d§N`r 

N§T qY¥Yr h± – 

(A) Mp²¾Ha 

(B) qef²¥¾v Jt\W 

(C) cp`p²¾®O²¾ 

(D) gtHcpW 

(iv) ‘h|Hm AWy hE`| Yr `pc’ dyI qHg Yp qdqIAp h}qBAp h± – 

(A) AOrW H¡c 

(B) Tp. hcqf¥Yc H¡c 

(C) Tp. Yqe¥Yc g±lr 

(D) Tp. Ycf²¾qg¥K ApfR  

12. AqW N}Ry \of²¾ (qBH f^Y epdy) 14=4 

(i) ‘`²¾`tqI’ W~ Hr _pe h± ? 

(ii) giW Jc`r qe§M H¥` Hc²¾ epdy qHg Yy `tIpO h} JBy h²¾ ? 

(iii) cp` _O²¾r Ap\Vr JtAp£UV A§Jy Hr qB§Np cIYr h± ? 

(iv) cp` _O²¾r ²¥¾v ‘Ytfpdp’ Yp²¾ Hc²¾ dBr H¡V ApIYp h± ?  
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13. hyS¾ qdIy \of²¾p£ Yy E¨Wc 25 W~ 30 f^Yp£ qe§M qYG – 23=6 

(i) ^pcªes O`pW Yp ²¾WrOp ApEV E\c¥W `¥`r-\p\p `r²¾pHfr ²¥¾v qH§X~ d± 
Hy ApBy g²¾ ? AWy `r²¾pHfr ²y¾ W}h³y eO~ qHhmr Mrk Yr `¥J HrWr ? 

(ii) ^r^r _p²¾r Or Yp O²¾` HY~ AWy qH§Xy h}qBAp ? 

(iii) `±d^c²¾ Yr qHhmr Mrk ²y¾ q`dIp qg¥K ²¥¾v \o_pqeW HrWp ? 

14. e§Ty E¨Wcp£ epdy \of²¾ (E¨Wc 50 – 60 f^Yp£ qe§M) – 3 

‘`pV \¥Op^r Yp’ HqeWp cphs Her Htde¥W qg¥K clrH Hr g¥Yyf YyVp Mpht¥Yp 
h± ? 

Op£ 

\¥Op^r d}H JrW \¥Op^rAp£ Yy Ore²¾-M§Hc Yy ²¾pd-²¾pd qHez WtcYy h²¾ ? 

‘\¥Op^ Yy d}H JrW’ dyI Yy AZpc’Wy Y§g} & 

15. ‘`| hc \pqgG¥ dt§qRAp qJAp & GqB ! `| Hr Hcp£’, qBh H¡V Wy qHE¤ ^}dYp 

h± ? E¨Wc 50 – 60 f^Yp£ qe§M qYG &  3 

Op£ 

‘^y^y cp` _O²¾r’ Yp Mqc§Wc-qMWc²¾ 50 – 60 f^Yp£ qe§M qdI} & 

 


